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’ 1. The best index of economic deveJspment 1. IMUS AP F1 Fad BI_FAPI® !

is provided by Pt 70'»)"(" ﬁﬂﬁfamm forar s a@ar @ 2
a) growth in national income at current a) m PIAAl W) '!Tfm AT H q@
prices b)muﬁm%mamﬁq@

—m——— S G s
M per capita real income from ¢) d9dd 3qUld s | qf%
r r Ty ot fRufa o
year to year _——" éQ’? 4D ()/ d) YHITdT gur

GG 3 TR V¥ Rasim e

d) improvement in balance of payments

position KQ@P Sw,FT \/OSTRO A/C
NostRo Alc

c¢) growth in savings ratio

e) None of the above/More than one of P@\

the above

té : BY - DR. BHARAT SIR




F 2. Consider the following statements and 2. fAuferf@d gl W AR a»"r%m MR 1
choose the correct answer from the 12 feu e I 9gt SR g

following code glvenb FYT (A) : e fav & fow w@
Statement ' Economic development ﬂmmﬁmg};ﬂ%|
requires a multi- pronged approach. W (R) : 0T R TPR qEIa:

Reason (R): The t Govemment of India e m favydl ©w¥ o= g a3 '\rﬁ
is focusing prj ’Q %I
topics. a) (A) 3R (R) SHT W& 3R (R), (A) BT

a) Both (A) and (R) are correct and (R) is the

correct explanation of (A) “ﬁ %I
: b) (A) 3R (R) ST el fg (R), (A) T
b) Both (A) and (R) are correct, but (R) is :
el WPHIur T8l g

not the correct explanation of (A)

@ (A) is correct, but (R) is false. " ) (A) !Tﬁ %' %ﬂ (R) TTeid %l
d) (A)is false, but (R) is true. d) (A) e 8, fg (R) WET 2
BY - DR. BHARAT SIR ,
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]f 3. Which among the following is @ a 3. FufafEa 4 @ o9-u1 enfds e & !

major factory of economic growth Hd PRSP 2 /’ﬁ { /
)ﬂ)’ Accumulation of capital and & reforms a) Joll &1 I9Y U4 dH-1P GUR
in technology b) SEE ¥ givad—
b) Change in population — c) m foranaftfafaferat & sw
c) E i |:on of labour in specialised faure=
activities d) GB-Ieidg Ud THIATE

, ',", nocrats and Bureaucrats
' Y ¢

P D= P

B 4




a

f 4. Consider the following statements : 4. FufafeEd sy w AR Fifeg !
Human capital formation as a concept is better @ Fﬁﬁ_ﬂ ﬁ@@ L4
explained in terms of a process which enables dgaR TS I UfehdT & 4 | B &1l g,

e e — — E
1. indiidualy of a country to accumulate foreds G-
more cadital 1. & 31 & aafea siftres oot &1 g &%

@ increasing the knowledge, skill levels and tlﬁ%l
" capacities of the people of the country. 2. 4 & Wil & [, SIa wRI SR arransit
X accumulation of\tangible wealth. ‘é—cq— 0 Q'%E} LI
@ accumulation of 3. @1 Hag gl T |
Which of the statements given above is/are 4\3IER U 1 Wad €1 UTdl 8 | SUYS Bl
correct ? #q PH-A1/A E8/3 2
a) 1and 2 a) 1 3R 2
b) 2 only b) $ad 2

Q23R4 d) 1,33k 4
e ¥

"






a

ll 5. Increasing investment in human capital . __m@ﬁa_@gi"mm

gy All of the above

L

leads towa rds-/ VR E__m %'
/ Proper utilization of resources a) YT BT Fﬂﬁ'ﬂ LRI
/6 Increase in productivity b) IaTgEar # I
\/ Development of skill c) Prerar # fawr
d) SWI It

BY - DR. BHARAT SIR




l’ 6. Despite being a high saving economy, 6. 3™ T9d aral JYTTRIT §id T U fvw I

capital formation may not result in W‘Ul Eﬁﬂ ﬁ'ﬂfﬂ q% s
significant increase in output due to mﬁa H’?f HRIGL %?
a) weak administrative machinery& a) m'\' WR‘F{ GE
b) illiteracy b) fPR&RaT W
c) higﬁogulation densi§\¥>< ¢) 3= THHSI U9
llgh capltal o 3

BY - DR. BHARAT SIR A




f 7. Consider the following statements about
the idea of."inclusive growth"

The idea of inclusive growth entered
into the domain of planning with the
Eleventh Five Year Plan

2. This is not only concerned with

economic but also with social inclusion

4. The main idea behind inclusive growth
is to include SCS, STS, OBCs, minorities
and women in the country's
development process

1,.

runs parallel to the idea of inclusive
growth
Select the correct answer using the codes
given below
Codes
a)1,2and 3only b)2, 3 and 4 only
¢) 1, 3 and 4 only @14_2_,_3 and 4 all

|

yme 3rd generation of economic reforms

‘ §-

&>

BY - DR. BHARAT SIR

HRYE 9t g=EfRa g

3. _waiae faerm & 09 YR
@I faw™ uishar A o Gnﬁi,“g

ATgfd ST, 3= ai,
ATHSIS1 U4 Aigarsi &t gfwfera

AT |
4. 3Md® JFURT BT dIE Uigl GHE™T
o™ & Iy-uTy 99 tﬂa%l

‘mﬁaﬁ@%mﬁmm q
TR e BT AR e ¥ a

/ﬁmﬁfdﬂaﬁmﬁﬁm%mm
faa

27 TE Paa s € T8l afes wrrore

i 22 T et &1 wahT Fd §U WEl I

&1 994 DIVIT:

Pc:

a)Pada 1,293 b)®dda 2,394
1,394 d)1,2,3d4

iy
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| 8. Which of the following can aid in
furthering the government’s objective of

( inclusive growth?] §H4
1. Promoting self-help grou
2. Promoting micro, small and medium

enterprises

3. Implementing the right to education
act

Select the correct answer using the codes
given below

a) 1 only b) 1 and 2 only

c) 2 and 3 only @1, 2 and 3 only/

BY - DR. BHARAT SIR

8. ‘W%Wﬁﬁm@h&uaﬁmaaﬁg

fFafafaa 4 @ $9-91/3 $1d Jeras aifad
gl 9@ &
A7t WETaaT SE) B Wiere 3
q&H, Y R Head ITHT B WS o
) e &1 sftrer siftfaw ary &3
Frafaiad el & smyR w wat 3w g :
a)aﬁ?n
b) Had 1 3N 2
c)asaazahva
d) 1,233

iy




F 9. Match List-1 with List-ll and select the 9. Wdl-1 &I gdl -1l ¥ GAfed HifoC auT 1
correct answer using the code given gl & A 3u U o &1 v se

below. el IR BT 99 HIfoTL-
List-I List-1I gt-I -1
A. Economic development A 3fd® a1 9@d mm
B. Economic Growth 2. Environment B. 3T gfs 2. Ugiaxur
C. Sustainable Development 3. Health c. ¥yuiftg s 3. 9=y
D. Quality of life (@) Structural Change D. Sita- &1 IUra 4. SRIATH UiRaad
\.
Code: Fi
@eB c A B C D
(a) 1 2 3 4
a)1234 (b) 4 2 3 1
b)@7Z3 1 (c) 3 4 1 2
d) 4 1 2 3

c)3412
\d)’@z 3 BY - DR. BHARAT SIR 4]




I 1é. Economic Planningis subject of 10. 3nfdfe FFrate= fawa 8-
—

a) Union list a) 99 g |

b) State List b) Y19 '\‘ﬁ’f o

) c) Jaadl ﬁﬁ s |

d) Not written in any particular list d) fedt Ay W H IfewfEa Qﬁ %

té BY - DR. BHARAT SIR
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a

] 11. Which one of the following was not a part
of the strategies

follow the
Government of India td_increase food grain

production in India immediately after
Inmendence?
/)/lnt_g_qgﬁgam_n_f_cmpping‘over already

cultivated land

Mreasing cultivable area by bringing
cultivable and fallow land under plough
/d) Switching over from cash crops t fogg

crops
:,L

-

X@ Using high-yielding varieties @
seeds

@1 R =)

11. a4l %‘%@ mﬁmﬁ
IdTEH B deH & AT URd PR gRT
SIHUT DI (AT T SFrIITaal $T D
3 PrafifRe & @ P-w1 @ G 2
a) Ugd ¥ & o7 4 # wua I &

GIEIEE4Y|
b) Ggiﬁmﬁmahvm?ﬂwgﬁfﬁa’ra
%Q)Q'ﬁ@ﬁ)a?mw@ﬁﬁmﬁa
CIR AR
¢) I UgaR arel fHwt (HYv) & ol &1
SUGNT BT
d) TP¢l BUdl & ded H W BHAl DI

iy

\




| 12. Match List-l1 with List-ll and select the 12. '\‘Iﬁ-l G| '\‘Ia ST | ﬁﬁﬁlﬁ DI qUT |
correct answer using the code given ?Iﬁ'!ﬂ & 9 feu MU PC DI T HID

below. el IR &1 99 PIfeie-
744
List-1 List-1I -l T -

& First\/: 1. S. Chakravarty Model A.UYH 1. TH. hadl AIsd
B. Secon =2. Harrod-Domar Model B. ﬁ'cﬂ'q 2. '?R’fg SR "Higd
C. Third 3. Ashok Rudra Model C.qda  3.3mN®
D. Fourth 4. Mahalanobis Model D.Tgd 4. HETaAIad Aisd
Code: w

ABCD « = o .

a)1324 / a) 1 3 2 4

b) 2 4 1 3

c) 3 1 4 3

3124 d) 2 1 4 3
2143 BY - DR. BHARAT SIR 4]




f 13. The basis of the first five-year plan in 13. HRd H Ugd! U9quId TeiHT HT MTUR YUT- !
indiawas _~ Y— a) BYIS - SR Hisd

;7_Harrod-oomar model) b) HETAAIGH Alsd

b) Mahalanobis model c) ETENI'I'Q ARIel Aied
¢) Dadabhai Naoroji Model d) 9. T, Ag% Hisd
d) JL Nehru model e)mﬁﬂaﬂ‘éﬂﬁ/mﬁﬂw
e) None of the above/More than one of q 3iftre
the above

BY - DR. BHARAT SIR

|




’ 14. Which five year plan of India has laid 14. YRd @1 Ugqug Qe & | {69 giermn 1

emphasis on ( "faster, sustainable and " 3iftrep ?ﬁﬂ. Turyoitg qyT 3iftre Jarash

more inclusive growth” ?) qu% W SR fear mar 82
a) Ninth Five year plan a) It vaadfa e

b) Tenth Five year plan EGEIRECNIPRIEEI
c) Eleventh Five year plan )g ¢) TRegd! Yaauig greT
d) Twelfth Five year Plan _~ d) IREd! Ugaqurg gier1

BY - DR. BHARAT SIR




I 15. The National Bank for Agriculture and 15, ?T@'q qfﬁ 3R il e 9@ GIELS)! |

Rural Development ( NABARD ) was . ! TG %W tuadiy gien ot safy #
established in whic CIRIERC

period ? p a)ﬁ‘ﬁ
a) Fourth b)m
b) Sixth ~ c) Ur=dl
¢) Fifth d) 3ATSdl
d) Eight J

BY - DR. BHARAT SIR




